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SA - BB B () - MM - BES Ol &t o San HmEET
M= A& 2ol 1,162,083 1,083,327 78,756
AMdzeldt 23 1,055,726 977,336 78,390
H=AEs 2l 799,726 772,336 27,390
HSAE 29 799,726 772,336 27,390
101 @124l 74,237 86, 150 A 11,913
04 D12t 22 HEE = 74,237 86,150 A 11,913
O&W==gZ otZI| HAIRA R 4,555
—Jlz2s3 45,550 «2H x50 4,555
ORI SLHST MENY 02y
39,660 *5H 32! x43] 2,380
OfF4 HUAZ KREFINE S3EHH ARY 28,273
—Jles 39,6603 x2H 254 20,148
— 2+AlH| 2,000 x2H «250 23] 2,000
-5 39,6603 x2H x52 4,125
— BE S| 200,000& x2H *23] 800
—Ws2xdl 50,000& «2H 128 1,200
O=sZis2 334 a2 14,137
—Jlas 39,6603 x1H 254 10,074
— Z2HAY| 2,000 *1H %2502 23] 1,000
— ZE S| 200,000& x 1«23 400
- &5 39,6603 x1H 52 2,063
—s2xdl 50,0003 1 122 600
ORF4 M M=XY AR (HLAH,
£33 53F) 39,6609 +8% +32 +43] 3,808
ORZFM NARIEN BEHAH o5
39,6603 x6H 32 43 2,856
OII+=ZI&E Ex=HIAH =2
39,6603 *3H 42«33 1,428
Of=4 HUAZ IX =< 16,800
—AsS 70,0003 *20H « 123 «60% 10,080
—B= 70,0003 *20H 123 *40% 6,720
201 LB-2E| 612,600 592,330 20,270
01 At 22l 43,826 49,858 A6,032
OYgt+ 2| 43,826
—2EASD MIjodB HLLER
23,0003 12 9,876
—SLAINF FIHEBL HHE2
38,000 122 2,856
—MSAE(MsS, 22 & )gst2e
PR =2 650,000 128 7,800
—HSAE W =X AARLUL Z2EHE It
=2 200,000 *7H 2 1,400
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SA - BB B () - MM - BES Ol &t o San HmEET
“SuAs® W)l ZOIEA 24
300,000& 12 300
—Hs2, =g 2L HIHA =5 (28
3CH) 180,000& »3CH 13l 540
—Hs2 2de 4sZA =22(2€)
180,000& 20 13l 360
— R0ZH EH+=x2 2,952
Al=dE RE3IE
90,0003 201 & x12& 2,160
- RFA MIEESEE AIRY
66,0003 x 101 2« 128 792
—AUEE E+ =EIZM =2
16,000 122 192
—AHEE 2T 2 H+Z83 HA
1,000,000& 23] 2,000
—AdU=ZE 3% A 800,000& 23] 1,600
-2k ¥ 22F3x FA(HMs2, 2838, F
JI&E a3 ) 30& *200,0004 6,000
—AdU=ZE USL0I sR2el & A2
- 900
ZEEX 25,0003 «3E 128 900
—HMSAE 22 FL (NS, Z2INE, I}
AZEE IHFFINE) 500
-UIEMI 2 HUAZ S22 532 81
BIE) 100, 0002 *54 500
—Hs2 TAIA EZASAE ZIEA =
= 350,000& *12] 350
—JIAABAIE YD) SoHEE =2
1,000,000& *13] 1,000
—EA8YH =8 400,000& *43| 1,600
—HASE P (ESAERXE 108)
300,000 x12& 3,600
02 =224l 568,774 542,472 26,302
O3 & HA 192,250
—dlg(ds2, 9%, 23018, 133
S HIUAR, AEXIE D) 9,500,0008 « 122 114,000
— & oxEE2(Hs2,+2E RLIAINE, I}
33T 5,500,000& x12& 66,000
—SFMNERE = 2,300,000& »23| 4,600
—=,28 SEX 2,910
A= XAl 65,0003 *3CH *23] 390
Il AN=r2 25,0003 *3CH 23] 150
MAUABHE 330,000 *3CH*13] 990
SEEE= 460,000 *3CH*13] 1,380
—usmY RE3 4,400,000& *12] 4,400
— JbAAND HiA MY 282 50,0008 13 50
—-RE= 190
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Eel: MsAEE 2el (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
ot 2203 #4023 x 128 106
- SJIRHE 1,750 «43] x 128 84
— Yot ate| g o3l 100,000& 13| 100
Ozl 279,564
— S L AP ©Y 23,000,008 128 276,000
~HSE® Y RLAIE SMA S Uy
60,000& *5H & 1,800
—0FJ & A2l 110,000*12& 1,320
—S|EZJE 43U LPGItA 2
37,000 x125 * 12 444
OAEZHI S X 60,000
—d=2 & JIAEE |XH
3,500,000& =122 42,000
~RZFIIF MW BolELSE
00,000, 000& *3% 18,000
OXte & Bl 36,960
— o2 32,640
AEBHE 1,700 %220¢ =128 4,488
34018 EEHA
1,700& %6904 =20 +12& 28,152
— X &=l 4,320
HAESXHE 60,000& 12 720
- 34015 SEHA 150,000& =2CH 12& 3,600
202 Oddl 1,589 1,566 23
01 =L 1,589 1,566 23
OMSAE &I Al &S
264,8003 x3H 23] 1,589
206 M= Hl 39,300 37,290 2,010
01 24l 39,300 37,290 2,010
OUH4+ET F4+%E 2Y(A2NSTHES)
400,000& 123 4,800
OFgy HAAZ(H2HM ) 300,000 ~122 3,600
OMIIME P (HEHE 2 78)
300,000& «12& 3,600
OsZI MESAE gz MAEaHY S3EE
= 13,000& 100 1,300
OMSAE HLUEAN Y S& 3,100
— OIME R (20EEH) 160,000& = 10CH 1,600
— &0+ 500& +3,0000H 1,500
O=sZHsa 244 JI1H Mg 7 1,500
— AKX A 7B 1,500,000 * 14 1,500
OMSAE 45l M= 7L
30,000 30 62 5,400
O2=Zd SO MR 2
30, 000& =30 M 900
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Eel: MsAEE 2el (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OREdIIE W AS AIEHUAZE 22 =
= 7 500,000& »12& 6,000
OHueE 224235 ¢ 2,400
— =2 Aa3)] 3.3kg 40,000& *30CH 1,200
— 28 SA(40mm, 0l ESA) 25,000 *304 750
— s A 2 (40mm) 15,0002 304 450
OS2, 42U, SLTIT Yo YR
orola2 ™ 2 28) 500,000 *30H 2 1,500
O=gZ Hg3AE 32H)l 24 7¢
300,000 x2E+x2K E 1,200
OFFHHUAR DE 2218 LEIH(20kg) +
2 40,0003 *100 2 4,000
307 glz2tol & 44,000 55,000 A 11,000
05 RIZHRI & 3 44,000 55,000 A 11,000
OS=a NABLE QA
44,000,000& =14 44,000
405 XHobF S HI 28,000 0 28,000
01 HatH ESFH S 28,000 0 28,000
OU+eistdl =8% 08 =58 &g +
g (AESE) 24,000,000 = 1CH 24,000
OYRFFE Z2HI FY(RLIIT EF4
mazsox) 500,000& »2CH 1,000
OM=&gE =zl 2L (SEHNSS, 222D
T EFAHLAE) 1,000,000& »3CH 3,000
HM=EAIE ZHI 256,000 205,000 51,000
MEAY Jls 22 256,000 205,000 51,000
401 AIEHI L 20 256,000 205,000 51,000
01 A& HI 256,000 205,000 51,000
OMs2, =8 =8 OtA2EZE ZA
55,000, 000& * 14! 55,000
O&WH=ZZ HIUHM LM ZA
11,000,000%2CH 22,000
OMs2Z 2% HCeE ZA 20,000,000 14 20,000
OMsz 224 2g4A ZetAE o WM 32
At 20,000,000& =14 20,000
OMs2 2&48 (Y=, ALF) WHSBA
20,000,000* 14! 20,000
O=ZZEAAY AR FF nH SAM
20,000,000* 14! 20,000
OREZIE B, E2 A 49,000,000% 1A 49,000
O2&Z& X0t X SAk 20,000,000% 14 20,000
OMSAY BIdX™el & 2=+l
30,000,000% 14 30,000
BH2HAY (MSA L 22 D) 106,357 105,991 366
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chel: ol gyl CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
ol 2 gl 31,584 31,584 0
ol 2 (MSAIL 22 1t) 31,584 31,584 0
101 @14 Hl 27,384 27,384 0
01 2= 27,384 27,384 0
Osgz2=eg 60,853 x 153 x30 27,384
203 YR =2l 4,200 4,200 0
04 NI 4,200 4,200 0
OHMSAIE 221t 350,000& 128 4,200
Jl23&dl 74,773 74,407 366
Jl23Hl (MsAIE2e ) 74,773 74,407 366
201 Let24d] 42,993 42,643 350
01 At 22l 42,993 42,643 350
OgBt=&H| 7,323
—JIE2MREEY 100,000& 16X 1,600
—JI=3A2E3H 150,000& * 13l 150
— SAIIFR22(EH) 350,000 *1CH*43] 1,400
—SAENFY 20,0003 59t A+ 128 1,200
— D2 & BARIH(EURYS) 2,573
ZTeHEH 237,000 +3CH *32] 2,133
WAEH 110,000 = 1CH x4 3] 440
—gA FIMEH (MS2,BIE)
50,000& x83l 400
Oo=24d=+¢ 23,750
— o, =&Y 50,0003 1 «4752 23,750
O= &l 10,920
—AUH=ZE MEIZRI AL
7,000& 2 x3002! 4,200
—AUH=ZHE HEE HEZR HAH
7,000 16 302 3,360
—HSAE 25U L SALELH S2014H
7,000 16 *33/ 10 3,360
Oul=l 1,000
- &Y= 30,0002 10X 300
— OtM 5t 30,0002 10 300
—&d3ZEE 100,000& »4H 400
202 O4dl 31,780 31,764 16
01 = LH o4 1l 31,780 31,764 16
OHMSAE JI2gS 20
20,0003 «16H «83| «12& 30,720
OMSAE JI2g2 220
264,800 x2H *23] 1,060




